Prove the following identities

tan x

1. =secx

sin x
3. sec’ x(1-sin’ x) =1
5.cos’ x—sin’x=1-2sin’ x
7.tan” x-cos’ x =1—cos’ x

c 2
sin” x
9. ————=1+cosx
I-cosx

11.tan x + cotx =secxcscx

13. (tanx —1)* = sec® x—2tan x
15.cosxcotx =cscx —sinx

cscx cotx

17. - = tan xsin x
cotx cscx
4
sec” x—1
19. ——S—=tan’ x +2
tan” x

tan’ x — cot’ x
21— = —tan® x+cscl x

tan x —cotx

l+cosx (l+cosx)2

23. = —
l—cosx sin” x
sin? x
25.—2=(cscx+cotx)2
(l—cosx)
cot? x _ l+sinx

27

csc’x+4cscx—5 1+5sinx

Identities

S€C X

2. =tanx

CSCX

4. sec’ x(1—cos” x) = tan” x

6. 2cos* x—1=cos? x—sin* x
8.sec’ x—csc’ x = tan® x —cot® x

CSCX S€CXx

10. =cot’ x—tan’ x

sinx cosx

12. tan x cos x = cot x(sec x — cos x)
14.sin” xsec® x =sec’ x —1

16. 1+secx

=sinx+tanx
cscx

18 sec’ x—secx _l—cosx

secx +1 cos’ x

-3 3
sin” x +cos” x )
20— =1-sinxcosx

sin x + cos x

secx 2sinx
————=cotx—tanx

22,5
Sin x COS X

2 .
Ccos” x 1+sinx
24 =

"1+ 2sinx—3sin’x 1+3sinx

1 l—sinx
26. =
secx+tanx CcOoSXx

sin x cos tan x
28. Y -

sinycosx tany



